Quiz 1 |

MaTH 334: SPRING 2012:

Please put your work on this page. Box your answers. Thanks and enjoy. Problems 1 and 2 are basic
problems which ought not involve a substitution. However, Problem 3 is a Bernoulli eguation as we

discussed in lecture last week. You have laminutes to complete this quiz.

Problem 1 Find the general solution of % = zy.

__Og?, = xdx = Lyl = =x +C

Problem 2 Find the general solution of 2zydx + (22%y — sin(y))dy = 0.

Let Fl9) = x50 + s ()
nae 2= 2x 9% 4 %% = 2x°9 - (%)

, 2. 2 ' N _
i>< 9 +cs(e) = C e rm!D

Problem 3 Solve%+%y=—ty3. = @—3% + ;/w%)-z?. ..-/'{'
Let 3 =97 db o _,y0d0 | ytdy - oL S
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